

ABSOLUTE VALUES $\lim_{x \rightarrow 0} \begin{cases} x & \text{if } x > 0 \\ -x & \text{if } x < 0 \end{cases}$ $\lim_{x \rightarrow 0} x = \begin{cases} x & \text{if } 0 < x < \delta \\ -x & \text{if } -\delta < x < 0 \end{cases}$	FACTORS: SPECIAL FORMULAS $A^2 - B^2 = (A+B)(A-B)$ $A^3 - B^3 = (A-B)(A^2 + AB + B^2)$ $A^3 + B^3 = (A+B)(A^2 - AB + B^2)$	$\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1$ $\lim_{x \rightarrow 0} \frac{x}{\sin x} = 1$ $\lim_{x \rightarrow 0} \frac{\cos x - 1}{x} = 0$ and only if $\lim_{x \rightarrow 0} \frac{\cos x + 1}{x} = 0$ and $\lim_{x \rightarrow 0} x^2 = 0$
---	--	--

LIMITS: $x \rightarrow \infty$ $\lim_{x \rightarrow \infty} f(x) = L$ when $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$ and $f(x) > 0$ when $x > M$ $\lim_{x \rightarrow \infty} f(x) = -L$ when $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$ and $f(x) < 0$ when $x > M$	LIMITS: $x \rightarrow 0$ $\lim_{x \rightarrow 0} f(x) = \lim_{x \rightarrow 0} f\left(\frac{1}{x}\right)$ WRITE EACH TERM BY THE POWER OF $\frac{1}{x}$
---	--

LIMIT LAWS (see also in previous)

- $\lim_{x \rightarrow a} [f(x) + g(x)] = \lim_{x \rightarrow a} f(x) + \lim_{x \rightarrow a} g(x)$
- $\lim_{x \rightarrow a} [f(x) - g(x)] = \lim_{x \rightarrow a} f(x) - \lim_{x \rightarrow a} g(x)$
- $\lim_{x \rightarrow a} [c f(x)] = c \lim_{x \rightarrow a} f(x)$
- $\lim_{x \rightarrow a} [f(x)g(x)] = \lim_{x \rightarrow a} f(x) \cdot \lim_{x \rightarrow a} g(x)$
- $\lim_{x \rightarrow a} \frac{f(x)}{g(x)} = \frac{\lim_{x \rightarrow a} f(x)}{\lim_{x \rightarrow a} g(x)}$ if $\lim_{x \rightarrow a} g(x) \neq 0$

$\epsilon - \delta$ Definition
 $\lim_{x \rightarrow a} f(x) = L$ for any $\epsilon > 0$ we can find $\delta > 0$ such that whenever
 $0 < |x - a| < \delta$ then $|f(x) - L| < \epsilon$
 Choosing for δ any of smaller than δ_{ϵ} will work.

$\lim_{x \rightarrow a} f(x) = L$ if $\lim_{x \rightarrow a} f(x) = L$ and $\lim_{x \rightarrow a} f(x) = L$

EXPANSION BY DEFINITION

 $\lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} = f'(a) = \frac{df(x)}{dx} = \frac{d}{dx} f(x)$
 $\lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} = \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \cdot \lim_{x \rightarrow a} (x - a) = f'(a) \cdot 0 = 0$

Steps of a line through two points: $(a_1, f(a_1)), (a_2, f(a_2))$
 slope: $\frac{f(a_2) - f(a_1)}{a_2 - a_1}$
 line: $y - f(a_1) = \frac{f(a_2) - f(a_1)}{a_2 - a_1} (x - a_1)$

Step: tangent line
 slope: $f'(a)$
 line: $y - f(a) = f'(a)(x - a)$

Step: equation of a line through point (a, b) with slope m
 $y - b = m(x - a)$

DIFFERENTIATION RULES

Power Rule $\frac{d}{dx} x^n = n(x^{n-1})$	Constant Rule $\frac{d}{dx} k f(x) = k \frac{d}{dx} f(x)$	Sum Rule $\frac{d}{dx} [f(x) + g(x)] = \frac{d}{dx} f(x) + \frac{d}{dx} g(x)$	Product Rule $\frac{d}{dx} C = 0$
Product Rule $\frac{d}{dx} f(x)g(x) = f(x)g'(x) + f'(x)g(x)$	Quotient Rule $\frac{d}{dx} \frac{f(x)}{g(x)} = \frac{f'(x)g(x) - f(x)g'(x)}{[g(x)]^2}$	Chain Rule $\frac{d}{dx} f(g(x)) = f'(g(x))g'(x)$	

Continuity: should follow
 Suppose that f is continuous on the closed interval $[a, b]$ and let c be any number strictly between a and b .
 Then there exists a number δ in (a, b) such that $f(x) = f(c)$.

Intermediate Theorem
 If $f(x)$, $g(x)$, $h(x)$ are all in an open interval which contains a (assume it possibly be a) and
 $\lim_{x \rightarrow a} f(x) = \lim_{x \rightarrow a} g(x) = L$. Then $\lim_{x \rightarrow a} h(x) = L$.

Binomial Theorem
 If a, b are real numbers. Then
 $(a + b)^n = \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k$